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Unit 4: Writing & Solving Linear Equations Math 8R
4- 1 Fmdmg TWO Unknown Number's

¢)) Cr'ecn‘e a "Let Statement” Char'r
I (2) Box operation keywords and translate into equation. I
* (3) Solve the equation for the missing values!

‘ (4) Did you answer the question? l
¢)) One number is 5llarger thanianother. The | (2)  The first number is fouritimes|the
[Fumof the numbers|is 25} Find the two second number. Their is 150. Find
numbers. the numbers. -
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(3) The second number is SevenEore-TEaa (4) The second number is eight|
the first. If fwiceYhe larger(is\22 Three-I he first. Their|stmis 136.

than four]fimeg the smaller, what are the What is the smaller number?
two numbers?

Let:
Ley: x| N

Asyxf N _:\a é\
— 2nd ¥ | 100
7o "*“!255‘\\ i E el ¥ -—'a/“—“

43+ + 2Ind =\3DL
A) (+ 308 =V

F(1xwy= an-22

- A
“agn=sn-22 SE
“ 2N : X))
4 i
B =2 " (N = DL




1 (B) ‘ The larger of two numbers is seven times | (6)  One number is 20 more than another |
': the smaller. If the sum of the two number. Twice the larger increased by 15

numbers exceeds their difference by 20, is 5 less than four times the smaller.

what are the two numbers? ind the larger number *
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(7)  One number is 3 less than twice another | (8)  The sum of two numbers is 84. The

number. The sum of the numbers is 21. larger of the two numbers is twelve more

Find the numbers. than the smaller number. What are the
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(9)  One number is 10 more than another. The | (10) Divide $80 among three people so that

sum of twice the smaller number, plus |
three times the larger number is 55.
What are the two numbers?

the second person will have twice as
much as the first, and the third will have |

$5 less than the second. 5 ‘7, $a‘l— ;
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(11) A class of 50 students is divided info Two (12) Two numbers combined is 72. One of
groups; one group has eight less than the them is five times the other. What.are
other. How many students are in each '
group? 15+ N 12
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